smtths interconnect

XS —X

BERE. AR—IREESIAXRTY




NXS)—X

BEERE.AXR—IARESIXRIY

SH.FHEHEERIFVEREEES=IRHTS
RF 7700 R—XODR1O—KH56E.5RIL
—TYMNEERDOFLWT DI RSUART
Lok 7Oty 77— 70 FeACBiTL
TWET.CNEDT7—F T I Fv Tl BRE
TERAERICHTIEENG Fo>TVET,

NEDERD-—X%EHI- =8I, Smiths Interconnect .
AOTIVRTRERT— V2 RETI2EELER. SEEDIE
BEFHTHDNXS D —XE=FFELELT

Hypertac® /\-/N\—RO- Rz&fE./\1/N\—HROrRI>% Tk
BT NXS X7 L1.2,100 G B X AMimH L NJLOIRE). &
B BLUREHRZEL.®/AK 50 Gbps (RA1HD) OT7—%
EEREDT TV r—2a BHICTHA 2D TEEYT, NXS &
)—XF 4FIE12EDER Quadrax (7a 7L YA >FvIR)
EPa— I ZBRABEARBE TR INTVETD,

FZEBEEE Quadrax EZa—JLICIEERT7H 100Q D 2 2D
T a7 Twinax B EFNTVE T TTAVRXA MNERYNTSY
ST ENEIDIERITEL AHRBEDD R WEMEZFERALTL
ESC I

TSICVEIZATE PCB RERFHCKIDBAEDIR Y LFABEIRE
MHIRSNE I, XI5/ —RU7O0-RICEEINE<OOY
R=RUMIREBZE5XEFEAZEMIZ3D B Ial—2a
¥ (EM) VIO 7 2R L TR TN TE D EETOt X 21F
TENMRZRELEZT,

smtths interconnect

N1 HT=DERA 50
Gbps D &ERERF HAIE
mIFICHERICERETR &

OTARTNTLET,

=Y

EH AR A F
NTN—ROA RO %52 Sl
(|3 AT PCBixHF

4 HEV12 RTHERK

)y bk

g2t

B iEimEE

BRSNS

FHERBICE T38\VEEPCIRENICDMI R 515

UTOEHZEXSLIICHATN
TLET,

m ESCC3401
m ESCC3402

m ECSS-Q-ST-70C
m ECSS-Q-ST-70-02
u

u

u

Xllll

ECSS-Q-ST-70-08C
ECSS-Q-ST-70-38C
ECSS-Q-70-71



smtths interconnect
BT HIFFIE

MEte Ll

Hrlett EiF

JVRDwh - (B4 PEEK 30% H—HR Y F54E)
ftEF zwrLoEicE

TILEZILER
TEF: ZvrioEicE

TILEZIULESR

ARV9—TF3TILETHIL >

1>+ —2x)l (Quad €E2a—JL)

—NnN—>1)l TEF ZvTILoEicE

. Fifk=yocd
aAv&I7k HEF ZurLOEICE
1¥val—5—[HBiE PEEK
HLREN—Fox7 RFVLAMESVFIVE
7R F— 27 L8

(AR5

BEERE 50V RMS

Bk 1A

T— YRR E N1 BT=DHA 50 Gbps
1VE—F2VR 100Q +10%

A>9I MEHR 150mQk

BB m (&) 160
ARL—T1 > REEHH -40°C ~ 125°C

MR (21 —Emma/mE) 500[@]




smtths interconnect

ARV —NHA

NXSLET57I1L

M2 x 0.4 in 4 positions
Panel mounting

16.2

o
Sk [
o | ¥
See polarising LH See polarising RH
[ag} r
- I
o |lo| o] @

D o |lo |l o] o D I
@ @ @ @ n |
ollo|lslle ~ !

@ @ o Ll L @\ |

lojlello |l e |
CRC "\.__M2x04 in 4 positions |
PCB mount |

5.35 |
I

Note

AEOAVZ I RDEDMFIFENTUVET - & Quadrax EZa2—JLICIE 2 X 100 Q DEBRTHEENTVET,

&l mm T

2 x Jack Post

4 x Panel Fixings; M2 x5 LG
SMITHS P/N: HA-5012
Supplied with receptacle

M2 x 0.4-6H thread

4 x PCB Fixings; M2 x12 LG
SMITHS P/N: HA-5015
Supplied with receptacle

9.8

3.8




smtths interconnect

WL PCB 7y Uk

1.9 Typical

Optional Gnd contacts
for shell screeening

|
@ @ ()
[} @ 2}
Do o o oD | o s
Q \\ @&Gnd @ @ ) - Il
< @2+ @ @ @ ® | M| o
o \ b e ® o © [an \/ 3|
~l o ] @Gnd @ @ %\ ol
5.35 D
@ 0.75 pad
‘ ]2 0.08 |
@ 2110 through £
CSK to @ 4.30 x 90° inclusive g
on reverse face in 4 positions x
£
\ ] 1 T
2 : I+ I : %
VSZ 5 1O
\ T4
ERNXRILAYERT O
2.00
F 1.75
| =
| ‘ =012
G
R2.70 in 4 positions
o -
] o
& @
o
[o0]
: %
L3 DN N
Q"
M
R1.10
8 positions @ 2.30 through
H CSK to @ 4.60 x 90° inclusive
> N in 4 positions
CIESO P
way# A B C D E F (] H
4 23.6 29.1 22.1 3X3.8=11.4 22.1 26.3 17.65 23.6
12 54.0 59.5 52.5 1138 52.5 56.7 48.05 54.0

~F3&IE mm T,




smtths interconnect

NXSTFZ4

1.98

1.92 AJF
é,
£
n
<
[ ]
OO Do P

QL£{2

Ident: Bay .1 - Pair .1

12.6

T

See Polarising LH See Polarising RH

Retainer
SMITHS P/N: HXS-0021-M

Insulator Supplied loose with plug.

SMITHS P/N: HXS-0020-M
Supplied loose with plug.

2 x Jack Screw

M2 x 0.4-6G thread i
Sermm e

CIE: P
way#

4 - 29.2 -

12 - 59.6 -

Note
n TSV RS —TILAOBET TR al—y— 1t MRFV Uy T I B LTV E D,
n T—7)IRFOFMICDOWVTIL. "Accessories”, on page 9B LT Z 3L,
m HESET—T)L(100 Q Z&. —ILRAD 50 QES):
- WL37” GSC-05-83111-00
- 7541k 540-1153-000
- 7Y > AM526-A07

&I mm T
A



smtths interconnect

NXSt1/IN\— (F5%)

I Posidrive
I pan head

= 0000 Sy
| : | T | - ;[S
] Al |

5.9
8.4

See Detall Inserted Withdrawn
Detail
Showing range of captive fixing
U]
°
< _______
< ] 1 |
g o, o5
" 3= =D,
& |~ ! | ;o L\ !
- [ 12 [ [
[ e [ S f\A/ [
[ [ [
: Polarising LH : Polarising RH :
See Polarising LH See Polarising RH I I I

Mounts to plug

Alignment mark

Fixings may secure
to receptable saver

way# A B C
4 35.1 40.1 -
12 65.5 70.5 -
Note
O IFOFEMRICOVWTE. T TV r—23>y A1MRZBEBL TSIV,
TEIE mm T




NXStEALN—(LET5IIL)

RN

P —

See Detail

AETE

See Polarising LH

Fixings secure
to panel

Mounts to
receptacle

\WEN: A B
4 35.1 40.1
12 65.5 70.5
Note

BOITOERICOVWTIX. 7T —oay A4 RESBLTLIEEL,
t3EIE mm T

smtths interconnect

1
1l

M2x0.4 -6G

See Polarising RH




smtths interconnect

7t —

E 1] Smiths Interconnect D& #H
FrET1715— HXS-0060-107 \
20T =7 IR HXS-0021-M l
HXS-7009
WFFYH ME. SEROEE L NETOERICAhE T AR CERIC RS NSRANBDET,
FYrORRICOVTIE AT EBBLTLIE IV,
. _s HYP-7049-H-117 (F Y MIEFENTLBHEIE
AVHIRTIH—= T ) =
N . HHSC-0156-100 (FvhCEENTULBESIEX /
Yy ka6 2) =
1ooalb—9—[FER HYP-6944-M (FvMMIEEFNTWVWBIEEIEX 2)
ANR=—1}— HXS-0065 (FvhCEENTVRIFRIEX 4) k

757 =TI Dk

(Twinax - L2 & HD)

Socket contacts Solder joint between screen
100 Q differential pair braid and contact outer

Note Cable-screen Cable
FBEDFFMICDOWTE 7TV —2ay AMRZE8RL TS,




smtths interconnect

LiXH

2B EE
o H

1 3 4 5 6 7
1 |[oU—X Bl cv—=zm@m
2 |way# n 4 RN E& quadrax (Fa7J)L twinax)

n 12 N && quadrax (F7277/L twinax)

3 [DTILDFAR AR

SRR RS ZDIE S
(S e P e

[0

0 BEZ,

4 —SRX=2aVAI1
)|

“ BEEEPC(LETIIILDH)
n AVH TR L(FS5Y)
n ARG —t—N—

5 | x)LiE/ Ll

&> 1)L (PEEK30% h—ARVFRE / ZvTIL EICS)

TVILIEER/ZvTIVTHE (TN —BRE)

6 |1EE/HTER

11 RALE A BN srrmmn
11 RIE B (2 EeRgivib)
11 BB C (3 ERiE
11 REE D 11 RYIE 4

7 |ARYLNIVI—3Y

R

Note

(1) 75717V R LTE 7= ILiEFFv FMcDWTId. "Accessories", on page 9 8B LTI,
ARILNII=230DH—=ZRX=2aVAF1 NI OVWTR . BFDOIRFERIEEICSRVEShELIEIWL,

(2) ARI9—E—-N—B. =TV EIC€Z -T2V I LITIEZIVLDH T,
(3) T7AN DAL RLEIITALITT,



smtths interconnect

REFEIEA

AAYOJIIEEBRRAYO42022 Version 1.0 OEIFRMREABD £, REBIREABRDERED$ 355 1013 EEBRDEHERAETNBELET,
AAOZOTICEBEHINTVRIRTOBRISHRIFR TOERRIBREBRDF I FEBEN - 7TV r—avion LA mHAETIC
B EBARUATFHFVAINTVWA e 2 CHESEOS X MRS MI N3 e 2B WL ET,

Smiths Interconnect ISERZDIERE £ /-2 M ERIETIHDTII B IBROFERICEATI—T0EEZEHLBEVHD L LET,Smiths
Interconnect XM BADERM £ REMZRIET DD T AL IEROERICETI—I0EEZELAEVDLDOELET,

RESIVEGRIVTUOVICOVWTHFABERFIFFERTICIF WA RBIBEICEVWTHEIEINTVLET,




00—\
HR—=k

AR5 —

TAUAN
B

connectors.uscsr@smithsinterconnect.com

o R—b

connectors.ustechsupport@smithsinterconnect.com

J—0Ow/\

=1 |

connectors.emeacsr@smithsinterconnect.com

B R—bk
connectors.emeatechsupport@smithsinterconnect.com
4 ““'ﬁ

Vi ey

=X

asiacsr@smithsinterconnect.com

B R—bk

asiatechsupport@smithsinterconnect.com

Y¥771/\—& RF A>HR—X
>~k

TAUAN
B

focom.uscsr@smithsinterconnect.com

5307 el o

focom.techsupport@smithsinterconnect.com

J—0Ow/\
F

focom.emeacsr@smithsinterconnect.com

i R—b

focom.techsupport@smithsinterconnect.com

7IOT
oL

focom.asiacsr@smithsinterconnect.com

o R— b

focom.techsupport@smithsinterconnect.com

S¥4H > smithsinterconnect.com

Copyright© 2023 Smiths Interconnect | All rights reserved | 1.0 /N\—>3>

inyY O

FEFGR

TXUA
-1
semi.uscsr@smithsinterconnect.com

B K= b

semi.techsupport@smithsinterconnect.com

O
J—0v/\
=1 |
semi.emeacsr@smithsinterconnect.com

5307k Sl

semi.techsupport@smithsinterconnect.com

4 ““'ﬁ
'/

=¥
semi.asiacsr@smithsinterconnect.com

iy R—k

semi.techsupport@smithsinterconnect.com

RF/MW #7S X 7Ly
7)(')7%3'—13“//\0\797
X

subsystems.csr@smithsinterconnect.com

o R— b

subsystems.techsupport@smithsinterconnect.com

0-—NJ)L
N—=7Tvk
A\ DIEHE

AAYOTICEENB TR TOBERIS R A TERTHBEEZISNTVET,
AXZBICEENZBERIFGEASNZHEERGE L OENEGOTREBDET,



